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1. Sglve the equation. @f 57 /l#/{ e a:{_j_d/’ i Sré {1]“"- /
/9x3+x2-81x—9=0 - o ) ({//

The solution set is i
(Simplify your answer. Type an integer or a simplified fraction. Use a comma to separate answers as needed.) [ : 1L ‘4
5 _ :

o pa E
695/%,{ S

Answer: -l,-3,3 ) M > ( 5 \7,7,/%_,-[/ < N 5
9 <Em Jwtﬂ)/»7 5
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2. Find the domain of the function.

“ f(x) = 4/4x - 28

The domain is : (Type your answer in interval notation.)
Answer: [7,00)
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3. For the given functions f and g, complet?arts (a)=(h). For parts (a)-(d), also find the domain.

f(x)=2x+3; g(x) =9x -5 rx) =

a) Find (f+g)(x / 7L/)C)<) =
S j?(,y +(/,A-y)¢ (fumm ‘\\
s /)0,)

(f+g)x) = | (Simplify your answer )
: + TX-S

What is the domain of f + g? Select the corregichmcabelow and, if neceszsay(ﬁll in the Enswar box to complete your

choice. </l_)—(;—— _: H"\ /

O A. The domain is {x }
(Use integers or fractions for any numbers in /he expression. Use a comma to separate
answers as needed.) ,: | / )/ X/’
B.
O The domain is {x| x is any real number}. / %) — / G2 ) { .
(b) Find (F=g)(x). ( Z X+3) — / 7/ G ) A &

V/

a f-9=__ | (Simplify your answer.). 23 = bt —’/' X ~Fs A (__ /)6” ()gf»‘))

..’ (c) Find (f+ g)(x).

20f36

What is the domain of f— g? Select the correct choice I:leiuw -and;-if- neeessary, fill in the ans ér-box to complete your

choice. ( y . ) <

O A. The domainis {x| 3 /r<.  JlA) =

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (8)( ot )( qb/( 3 -
() B. The domain is {x| x is any real number}. | 7 £ —F 7 /><
[Fx J/u

o " IISVHC«x
a/)( /’/]X A5 < ‘/ )

Coz 0,

e c———

What is the domain of f- g? Select the correct choice below and, if necessary, fi fill in the answer box to complete your choice.

(feg)(x)= (Slmpllfy your angwer,

= (J V. .
© A. The domain is {x| 3 / )(/j (( ¢ )Cf ‘ I
(Use integers or fractions for any numbers in the expressmn Use a comma to separate e /
answers as needed.) —
. ,ﬁ(i z GL~5 =2
() B. The domain is {x| x is any real number}. (K_J
J GAms 3= VTS

f
(d) Find [EJ(x). Z/( j *:\/ 91/,: o

f N ) C/ )( 5 - « ’ N T __S_
(EJ (x) = (Simplify your answer.) ” _ o __%_ - ___.:];._ = \
f & é Jdrhc. 1 X —_—
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to complete your Ir choice.
( ,;— - ))/// [l X— 2
O A. The domain is {x - 7‘*‘_}. L //3) = [l (5) —Z.

(Use integers or fractions for any numbers.in the expressmn Use a comma to separate

answers as needed.) }K_: //?) 5 5 .
() B. The domain is {x| x is any real numb /——/7 ,?7; 3 ’ "‘\ W y

(e) Find (f+ g)(3)-
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(f+9)(3)= (Type an integer or a simplified fraction.) I/'" /‘j/ )(/ < "’7)6/ J/
(f) Find (f- g)(4). / £~ 9/ () =~/ v )4y

2 —.
f-g)4)= (Type an integer or a simplified fraction.) ( / }/ / / / = /’ff

o

(@ Find (912 Q ( / // ‘f) ,,Zu _
(f-9)2)= | (Type an integer or a simplified fraction.) /)M - / /)/ _/’ //( I
oo / /()= (1) HUY—Is

L PR e an integer or a sim io /() f///() /s
[ng | (Type an integ plﬁifract V2)7 /})///(f;)) e R~ 3
Answers 11x -2 (/ (Z) / </ o i3

B. The domain is {x| x is any real number}. (,f : :,] ( 7 ) =
T

-7x+8

B. The domain is {x| x is any real number}.

18x% +17x - 15

B. The domain i i | number}. . .

e domain is {x| x is any real number ~ Z/(/_Z
2x+3 a4 Ve — —,
x5 inll )/ = NS

- 7
A. The domain is {x| x#g ‘ .

(Use integers or fractions for any numbers in the ression. Use a comma to separate answers as needed.)

(5 £Y < St
91 21>

: (5’)(’)” 7
ID: 1.1.67 / ff)( () ﬂ("i__ "
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4. For the given functions f and g, complete parts (a)- (h) For parts (a)-(d), also find the domain,

.—% (b) Find (f- g)(x).

1) =
f(x)=x-1; (x)=5x2 ( /
° L) S+ ‘
(a) Find (f + g)(x). (r/ ,) -+ /5,(1) de/’/’raw] \
F+g)x)= ]:|(S|mpllfyyou answer.) \" [~ j/ )Z'/ /)(7) ;

What is the domain of f + g? Select the correct chulcehelow and,.if necessary, fill m@sw_er box to complete your

choice. % /;_V/ Yo

j/_'““x

O A. The domain is {x| ¥
(Use integers or fractions for any numbers in the express:on Use a comma to separate
answers as needed.) ( ; — /, xf = )
(O B. The domain is {x] x is any real number}. il S
/)c / *"’/ &)

g - /5""' )=/ (L)an‘
(f-g)(x)= ' (Simplify your answer. —f - S/ﬁ’ - ( t /)(7 /)g?)

What is the domain of f - g? Select the correct ch0|ce ‘below and.if necessary, filLin the answer-box- torfb’mplete your

choice. ( —¢ /L X —| = B S

O A. The domain is {x| }-
(Use integers or fractions for any numbers in the express:on Use a comma to separate

answers as needed.) ( j}/>()

(0 B. The domain is {x| X is any real number}.

(,c) o _
g ) FN (198 s & ilg)/wus K)

4 of 36

) Vi M AT . ,
(feg)x)=| | (Simplify your answer.) ( ,L/ "%T 6 ,O( _f)d')/,

_._F-—“""_’
What is the domain of f» g? Select the correct chmcegeidar«and—qfﬁnecessaw—ﬁll -inthe answer box to camplete your chome

,_,H— 5 ey \7 Av,"fl
O A. The domain is {x ,.“WN__} /j«- Q Uly i

’.{-

(Use integers or fractions for any numbers in the expressuon Use a comma to separate ) (7=
answers as needed.) .o
zﬁéﬁj z A A f /
(0 B. The domain is {x| x is any real number}. -—’(C- 28 L/

. = Lz: -
(d) Find( ](x) / . m - %{ 2 b
O — g TS =

| (Simplify your answi r) / ; "

CC?L//%((";_ '/‘i ff ()] \

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
: Z,
('/H//)y = S N~/
r5)(3)=5(3) “+/9—/

in th/e expression. Use a comma to separate

SCA3) T~/
5
s P L

P 11/13/2019, 10:06 AM
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Z
(f+g)3)= i (Type an integer or a simplified fraction.) </ //>() ;—';X '70)(”’/

*(f)ﬁnd(f 9. /‘j/ (2) =~s 1) 512) —/
-9)2)= ) | (Type an integer or a simplifi ¥ ;{/ (Z) : Mr/(/ / Q FH /

action

;y(z) g 5% + &/

i = —-—?/u 7" 22—
(feg)(4)= | (Type an integer or a simpl ﬁ ra en~)———-

ol x/(f’):"/

.3— [
{-f-](4)=_| | (Type an integer or a simplifie fra/)oé)/] ¢ — f'( 5/)
Jor—— 50

<

— YN
" Apswers 5x° +x - 1 / /)/?/ b ] ////}'j/ff‘} ?5(’)) )

67)

(9) Find (f+ g)(4).

C(f
(h) Find [ . ] (4).

B. The domain is {x| x is any real number}

—5x2+x—1

B. The domain is {x| X is any real nu

5x° - 5x2
< =
B. The domain is {x| x is any real number}. ;[
! . — "‘______,___.-
x=1 (“'fp),ﬂ =
52 /

A.Thedomainis {x| _ x#0 .

(Use integers or fractions for any numbers in trfexpressmn Us

47 i o (
-19 (/‘)/lf)

£ 3
ID: 1.1.69 h/j‘f)(%) - 5176

———— =

5. f(x + h) f(x)
Find the difference quotient of f, that is, find ————, h#£0, for the following function. Be sure to simplify.

/ fx)=x2 - Tx+7 ((W__([ XA :’)
- LM’” —/A/ //q+7 AT =

x+h-7 /V’{'l)(/qff]/i\/(’h CP-Th T — /+//(f7 _

Answer: 2 A
1188 2 Xhth "74 _ 37_1 4o — 7/¢ /217&/ 4-.7
7 S

50f36 —————————— e 11413/2019, 10:06 AM
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6. Determine whether the graph on the right is that of a function by using the vertical-line
est. If it is, use the graph to find the following,

g (a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

i
/
Does the graph represent a function? Choose the correct answer below. ;’
' ‘(ﬁ A. Yes, the graph is a function because every vertical line intersects the graph in at most one \
point. — - — =
(O B. No, the graph is not a function because a vertical line x = 4 intersects the graph at only one
point.

(O C. No, the graph is not a function because a vertical line x = 4 intersects the graph at two points.
(O D. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.

(a) What are the domain and range of the function? Select the correct chaice below and, if necessary, fill in the answer
box(es) to complete your/chmce — ( / . ( vishe ) 2 / ‘ D ,/.
o =~ - 1 1 //”— ,/)(‘)f F “’17 f} & 3

- _/,- oy '/‘ {_ ] e ~ - J fl il
é @A, Th domain js | O/: 2/ ‘Th!e'rangg,ts ( o // A
(Type your answers in interval notation:"Use integers or fractions for any numbers in the
expressions.)

(O B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

O A. Thm@roep /(sf is/are / / ¢ /)

(Typean’ ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.
(O €. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
[] A. The graph is symmetric with respect to the origin.

(] B. The graph is symmetric with respect to the x-axis.
(J]cC. The graph is symmetnc with respect to the y-axis.

-~ LYD. The graph has no symmetry -
[:] E. The graph is not that of a function.

6 of 36 11/13/2019, 10:06 AM
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Answers A. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (0,5) . Therange is (- 0,3)
(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)

A. The intercept(s) is/are (1,0) |.(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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etermine whether the graph is that of a function by using
the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?
=

COves

() No

If the graph is that of a function, what are ie domain and range of the function? Select the correct choice below and f II in

any answer boxes within your choice. el € V4 f _/
'; J é/’ (b(} //L_f/‘l" TUW

P 55 (P e
GA. TH domain i /1/,; grangeas
§ dom o

(Type your answers in interval not
(O B. The graph is not a function.

What are the int nteroepts? Sele?’( the 9qrrect cho:Of bele and fill in any answer boxes within your choice.

. L " 1 .rnlt-unj 3—
on (<2, 00" (25 (9,
(T ype an ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

(O €. The graph is not a function.

Determine if the graph is symmetrical.

O A. Itis symmetrical with respect to the x-axis.

(O B. Itis symmetrical with respect to the origin. —._

v

< &) C. Itis symmetrical with respect to the y-axis.—
S Cedid M el SRR S
() D. The graph is not symmetrical.

(O E. The graph is not a function.

Answers Yes

A. The domainis| (=o0,00) [ Therangeis (—-o0,2] . (Type your answers in interval notation.)

A. (2,0),(- 2,0),(0,2):(1' ype an ordered pair. Use a comma to separate answers as needed.)

C. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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8. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

A ;‘ a(/u . ':-,- /7o / oy Pi
ll_-wﬂ = f 7L d. 4 B
Ty0) [0,2)F XA o Chee
your answer. Type an ordered pair. Use a comma to separate answers as neede CL_J i (;. L( 106 e w il {

(b) Thegomain-is =2, “j e { /«'/ f/;é"‘j N\ vm)w-wt T C«J‘

(Type your answer in interval notation.) 2 3 & ¢

e d 71
ﬁTm@Q%’s 7, 3':3 - [é Ao, 70¢ kg.g-ﬁw’ﬂ(j v115h 4

(Type your answer in ntervafnotatlon) =

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice. -

) O A. The graph |@Easmgon [ Z OI ( / 3j ,‘ h-dml \

(Type your answer in interval notatlon. Use a comma to separate answers as needed.) J?/ /,] () j I { o L # /
/ N
(O B. The graph is not increasing on any interval. 3(‘ ,{ W r (.-f’j
W /
On which interval(s) is the graph decreasing? Select the correct choice below and fill in any an {a\r boxes within your

choice, ~

O A Thegraphls ecreasngon [S ’_Zj (O) I_E I

(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph is constant on
(Type your answer in |nterval notation. Use a comma to separate answers as needed.)

Q _(_ ) B The graph is not ¢ constant on any mterval _:-'-‘

(d) The function is (1)

(1) O odd.

O even.

§ ( () neither odd nor even.  *

9 of 36 11/13/2019, 10:06 AM



finalm1314COC038sulllljjRZZ18M-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers (- 2,0),(1,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasingon | [-2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on | [~ 3, - 2],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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9. Using the given graph of the function f, find the following.

y\« ok |
@J Al @ My

(a) Wh Je,fhe mtercept )( ,/I‘/)
(3 o

(a) the intercepts, if any

(b) its domain and range i
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

=

lﬁ/c‘--,ff"’}'

(Simplify your answer Ty an ordered pair. Use a comma to separate answers as needed.)

-_.’(b) Theg/n{éury)s ﬁzk ( 7154 /(

11 of 36

(Type your-ariswer in mtervai notation.)

s (1, 7] & [/ e, 753
e our answer in Interval notation.)

(c) On which interval(s) is the gra;ah"ihi:rgs‘lqgﬁ Select the correct choice below and fill in any answer boxes within your
choice. e

O A. The graph is mdreasmé on @ 4 3.}

(Type your answerin mterval notation. Use a comma to separate answers as needed.)

(O B. The graph is not increasing on any interval.

T
On which interval(s) is the graph éc‘naasmg? Select the correct choice below and fill in any answer boxes within your
choice. -

-

O A. The graph %reasmg on f I /}

(Type your answér in interval notation. Usa a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph :@tantoh Z 3 "//j F/} 27

(Type your answer in interval notatton Use a comma to separate answers as needed.)
(C) B. The graph is not constant on any interval.

1

|
(d) The function is (1)

(1) O even.

()_odd.

B e
:: I n elw/.
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5
Answers (0,0), [50]

[=3.3]
[-1.2]

A. The graph is increasing on ' [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1.1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constant on | [-3,~-1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31

12 of 36
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10. The function f is defined as follows.
-3x+4 ifx<1
f(x) =
2x-1 if x21

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The@o@ the function fis | >, P ) e (ﬁ/j riyhs )
(Type youranswer in interval notation.) '

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

- .———;—_-..‘I )
O A. Th@erce/pt(s) is/are ( % ) e
(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

d (c) Choose the correct graph below.

O A. O B.

it
(d) T!énge }f’the function f is ; [ Z)V ('079»’ m, 70 f) )
: ini tation.

(Type'your-answer in interval no

Answers (— oc0,00)

A. The intercept(s) is/are | (0,4) |
(Type an ordered pair. Use a comma to separate answers as needed.)

X i X’/}M(P} :"’/ Z/
il -~ (T
o e
[1,00) e
-~ 0 /
ID: 1.4.33 Z/ ﬂ‘/ N g —

7 S T

e ——3/’/7 ’ ,;»1) et Ly
— (X>]) C/;j/ Cor 35"

2. = - e /

——— ee—————
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11. The function f is defined as follows.

1+x ifx<0
fix) =
X2  ifx=20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a)Th:fn;}rofthefunctlonfls -*/( )//C (/,/_(/ //)//)

(Type youranswer in interval notation.)

(b) Locate any intercepts. Select the correct chalce’pe!ow and, if necessary fill in the answer -box to complete your choice.
7

P '3 L ; 9’ {' _)\_;
OA. Th |E'|tercep s)' is/are (*/ O) (’ 0) )( M ﬂ/’(\
(Type-anordered pair. Use a comma separate%nsafers as needed )

(O B. There are no intercepts.

é (c) Choose the correct graph of f(x) below.
CirC '( /

(-W‘ ‘uﬁ;}r iH OB,

=5 6/—— L J r—\ ) ﬂ
(d) Thie range pf the function f is {.,—f ¢ /}‘5’) & 7—0 )
(Type your-answer in interval notation.)

Answers (- 00,00) o

A. The intercept(s) is/are | (-1,0),(0,0) |. P
(Type an ordered pair. Use a comma to separate answers as needed.) 3

(= 00,00)

/ —_—

ID: 1.4.37

R )/ R\
- Farp/7% e
-z«()(<c>) Coel, |
o) Mt s

/Xjf’,)/g;;,
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12. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) Feg=f(x) +2 (b) G(x) =f(x + 3) () P(x)= - f(x)

1
(d) Hox) =f(x +2) - 3 (&) Q(x) = 3f(x) M g(x)=f(-x)

(9) hix) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 2 below.

(b) Choose the correct graph of G(x) = f(x + 3) below. Y

OA. OB.

(c) Choose the correct grafyi{?‘x,) = —f(x) below.

(7 B. Oc.

(e) Choose the correct graph of Q{X)= gf(x) below.

15 of 36 11/13/2019, 10:06 AM



(f) Choose the correct graph of g(x) = f( — x) below.

O A. O B.

16 of 36 11/13/2019, 10:06 AM



finalm1314COC038sulllljjRZZ18M-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers

ID: 1.5.63
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13.
(a) Graph f(x) = |x + 5| - 2 using transformations.
(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

a) Graph f(x).
(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is | square units.
(Simplify your answer.)

Answers
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e -
. 8 (-—/ / +‘/ £1a =
olve the following equation using ﬂ'fe quadratlcfonnm ~ J__( —1 ) ( j ) / y ___—_,__7__
{_ ( 7 - /f . ,,___—-——-——————__" 3
2 - =0~ [JZ ] (3 ; ——
3x -X- 2 0 B // - /. / - [ T
,A{ - f’ = (- =7\ = ',_\_-—- ~ ,__-—————-(:
The §olution setis |
(Type an exact answer, using radlcals and i as needed Use mtegersor fractlons for any numbers in the expression. Use a
comma to separate answers as needed.) = o[l P ", 0 - ,l i
/ AT
Answer; 2 /{/ 7
==
3 4/

T~ ———r ey -——.... N
15. Find tl!;ré zeros, if any, of the quadratuc function usmg the: quadrab rmfila What are the x—mtercepts if any, of the QLa_Ph
of the!function? H/ /} FCx-e 3 e | — (. Y ;;__/—7/ ~G HJ3e—2<r
- ‘_I HEy e N - "4’3‘ £ ;‘ _____:_E f— \. il AR R T £ SRS g
f(x) = 2x% +3 +6x ! / >4 H (7] - ’7Z

Select the correct choice below and, if neceséary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma,ta_

separate answers as needed.) —_ -g
() A. The zeros and the x-intercepts are the same. They are (7’ e
L f fy 4 5
The zeros and the x-intercepts are different. The zeros are , the x-intercepts = _-_a____*_-’
O B. Y, -4
are . P o
(s €. There is no real zero solution and no x-intercept. e g
—¢, 23

// ‘// -3+1/_ -3- «/— i ff’_,_s_/,/

Answer: A. The zeros and the x-lntercepts are the same. They are ( (

- — > Rzt

CX-S E - TF)M@’ M) Cw/k“" 2(1)
ID:2.3.4 s

| A A
\

16. Find the,’real zero /,of tHe functlori ‘What are the x- intercepts of the graph of the function?

a(x)= x+2 x =15

Select the correct choice below and fill in the answer box to complete your choice.

J
0 ? () A. The zeros and the x-intercepts are the same. They are
A\
\ The zeros and the x-intercepts are different. The zeros are , the x-intercepts
; O B. are
;‘~ '- (Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
\-:3 \ separate answers as needed.)
I\
Answer: A. The zeros and the x-intercepts are the same. They are [ 9
“!
\ ID:2.3.75

19 of 36 11/13/2019, 10:06 AM



A_ﬁ_
(( )(——fZV’I/
/bj/f’ .

oot AT
sa
woef ‘-’@

(,(
—/
) (¥
V-
/e)“
¥
2V%
)
(ﬂﬂz) (~2)
(V<
)

ﬂf) (%)

Pl =
[y (—{
.
K
.—f
-2
.

')(
E =1
v X T
2
l
=

&
/)+—2[/F
=
..-f/r —
= @



/s —/y & O

OO "

ARSI S o L

/{:42%( =fy = O
i o= LD

(2s) eV Tl
2r =f " (gﬁ/ —_J/\ o
oy # VTS T -
3¢ /Y T O




finalm1314COC038sulllljjRZZ18M-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

17.
Graph the function f(x) = - X2 - 6x by starting with the graph

ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting).

Use the graphing tool to graph the function. —

’. EES
' éx"a\m//{j" ///EL /e ()(Fa\-}y-.){:/" - |
9('_,( v (,fln“ H_J Pl = l T T—1 : =T—1— 1 = — |):"‘
0 /'10 LEe BE EE RS RS SR ES S B
S S e e
£
it

?\; EREN====ssE ;., SSS==ss
w (’7k ” @ s Me pcr €4 -J_ﬁ;_*ﬁj'jzg:}_

. )

Answer:

ID: 2.4.29
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v

(

For the quadratic function f(x) = X2 - ax - 5, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

down
up
What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is |
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notatlon )

The range of fi is | .
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

22 of 36
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Answers up
2,-9)
x=2

A. The x-intercept(s) is/are 5-1 |-

(Type an integer or a decimal. Use a comma to separate answers as needed.)

4 237 e O
VI /v“”f
Loh /
O ubh et ) }
A. The y-intercept is |(Type an integer or a detimal.) , ol ‘v[ W LZ{ "
ClUmlLl /&/":p"‘i/ e o w 1.64/

g Hcl*"‘)y“/)
chcd g SQJC\f___ :

)(/ Lor o J" ("{)’)

20 {e“-{z -a -4

(= 00,00)

[-9.0) i
\_’v! fA ¢

[2,00) o

(= 0,2]

ID: 2.4.37 X -
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19.
For the quadratic function f(x) = - 2x% - 2x - 3, answer parts 10 b
(a) through (c). Verify the results using a graphing utility. ]
&
(a) Graph the quadratic function by determining whether its 6_-'
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 4
2
The graph of f opens (1) | =
The vertex of fis SAARE AR IRRRISAEADES RARE IRAPIARE ARAF TR N
(Type an ordered pair.) '2':
The axis of symmetry is | 2
(Type an equation. Slmpllfy your answer) -
Determine the y-intercept. Select the correct choice below -8
and, if necessary, fill in the answer box to complete your 1
choice. A0

A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is [s
(Type your answer in interval notatlon )

The range of fis |
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the intervai |
(Type your answer in interval notation.)

The function is decreasing on the interval [
(Type your answer in interval notation.)
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& a m/lc, : 5*7/) St In /N
JC€c ¢,/y£ 236 9} jmqfﬁ]
%//‘ L houes axX g 70“ /
¥ could j(?'ﬁ fej e

A. The y-intercept is [_ -3 ].(Type an integer or a decimal.) _ / | 1 A L=
s Eat in ,
, . (B

(1) O up.
O down.

Answers (1) down.

[z

1
X=732

B. There is no x-intercept.

ID:2.4.43
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——
20. Determine Without graphing; whether the given quadratic functlon has xnmum vaiue or a minimum value and then find
fvalue / G et 4 ﬁ‘/ //‘“ /”- h'urlﬂffﬁ{ \\‘
{ /

. / (i
,f(i‘);,_'zg’;.f1fx “ ///)( &/f//%/ /a/./ Z))

Does the quadratlcm’nctlon fhave a m|n|mum value or a maximum value?

N o A en, )
(O The function f has a maximum value. ff < / :[ L/E’/ /-’“ :.Q_L-/ 4
(O The function f has a minimum value. . \ 2(=z2), "\ 2C2%

l/"f/:‘( ,: ) r ._—:/ I: Fa “_’;" ¢ ' ] Ilr.-'lf
What is this minimum or maximum value? [ )/( o /

-t;

1 Vel . ” /
I(Simplify your answer.) ] « /£ /{ 1 )) m@f(«
Ve LA, — )
Answers The funchonfhasamaxmiﬁfn val( L Tt 2(4, )* Al 7 </j
28 v / G =2 N) LYY~
/{‘/ ‘3 ‘f’ - ¢ )

ID: 2.4.59 V& ), = 32— )
— S—— == = f R L/ =g
21. Findth ertlcgi E ontal and obli que asymptotes if any, for the fpllowing rational functlop =y ",_,--‘”
t 2 A L/ Verdicd a7 pn S Y= :i\\
12x AAK ] T2 = . =
R(X)= X+2 (__,_J — k — r‘j -

S ——
”

Select the correct choice below and ﬁll\m.any answer boxes within your choice.
-'/zf/ /q,),{_L L Jlrir AA?
| i /7/ Ay ﬂw st

<
(0 Swplh

O A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

(O B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes wifh_in your choice. ‘7

O A. The horizontal asymptote(s) is/are y = /
(Use a comma to separate answers as needed.) % 0/l 1o {4 ’(

() B. There is no horizontal asymptote. j ’ % 5 ey /[, /Z 3

Select the correct choice below and fill in any answer boxes withln your choice.
Lo / 5
it frfurt = F0V

O A. The oblique asymptote(s) is/are y = /7 4‘ ' /
™
(Use a comma to separate answers as needed. /( md G5 //7 5 / 2’ A / Mawr e P20 ‘

.

=G / \
() B. There is no oblique asymptote. é{/ &
J%M Fhece (s 9‘79 ©° / wd
Answers A. The vertical asymptote(s) is/are x = | -2 |.(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 12 |.(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45
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22. Forf(x)=9x+6 and g(x) = 4x, find the following composite functions and state the domain of each.

@ fog (b) gof (c) fof (d) gog

(a) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

O B.

The domain of fogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o g is all real numbers.

Q (®) (@of)(x)= (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

27 of 36

O A.

O B.

The domain of g o fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o f is all real numbers.

(c) (fof)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

O B.

The domain of f o fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o f is all real numbers.

(d) (gog)x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

O B.

The domain ofgo g is { | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o g is all real numbers.

Answers 36x +6

B. The domain of f o g is all real numbers.
36x + 24

B. The domain of g o fis all real numbers.
81x +60

B. The domain of f o f is all real numbers.
16x

B. The domain of g o g is all real numbers.
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C4
'{he function f(x) = 12x + 4 is one-to-one.

(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of fand f 1 .

(¢) Graph f, f~ b , and y = x on the same coordinate axes.

-1

@f ()= |

(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. The domain is {x|x# }.
O B. The domain is {x|xs }.
© C. The domain is {x|x= }.
(O D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. Therange is {y|y¢ }
O B. Therange s {y[yz }
O €. Therangeis {y|ys }
(O D. The range is the set of all real numbers.

Find the domain of f~ ' Select the correct choice below and, if
necessary, fill in the answer box to complete your choice,

© A. The domain is {x|x# }.
© B. The domain is {x|x2 }.
©J €. The domain is {x|xs 7
(O D. The domain is the set of all real

numbers.

Find the range of f ! . Select the correct choice below and, |f
necessary, fill in the answer box to complete your choice. ™

O A. The range is {yly;‘E }
O B. Therangeis {y|ys }
O C. Therangeis {y|y2 M}
() D. The range is the set of all real numbers.

(c) Graph f, f~ 1, and y = x on the same coordinate axes.
the graphing tool to graph the functions.

300f 36
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Answers a 1_24 ,{ttf,{ / (/ L/

D. The domain is the set of all real numbers. l ,2'/

D. The range is the set of all real numbers. 7‘,/
D. The domain is the set of all real numbers e ‘ﬂ L

x(
D. The range is the set of all real n mbersfz)[ H J ; \S\_/

o8

o]

| Ly
As: ¥ v
/:‘f.i’rh - /Z'\

il
T G Sl

\
f' L/*““‘” - })

_ ey /»9 P r'f

ID: 4.2.53 — “‘\\
= - - S @g-m c}if,”// \
24. Solve the equation. —X ‘/‘ S R TR T
q Wm{” 77 F
8~ ** 33 = 256" qr (20
\' )X f‘c“ (: - 2 7
= . I 3 y
The solution set is {| }, -f . [ ( :7—“
(Type an integer or a simplified fra;StTen Use acomma to separate answers as needed.) /
b c -
o 5 ’( —+9 ( 3/’(/ o _A\}
Answer: 9 _5{ "/t/’ 4"’,& JO 79 "‘"7

~3y VNPT
ID:4373 -3y i = 3(?(:“ YRR o

25.  Find the domain of the -Tft“rgr; ek {" / S IS on l7
hx)=In(x-1) o Wy
/The domain of h is X;’// f_/ >0 -f/
(Type your answer in interval notation.) N \ L/‘/

Answer: (1,00)

ID: 4.4.39 HW !Q,éﬁ)”)%(=—
e
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26. Solve the equation.

log,(2x+3)=3

Change the given logarithmic equation to exponential form. A - o’
. L Z, . Z)'/’fj

L | X-: 212

(Type an equation. Do not simplify.)

{ ) §Fr -
The solution set is ] g ~ 7)(
X

(Simplify your answer. Use a comma to separate answers as needed.)

Answers oy 4+ 3=23 } o .
N /. /
5 — L

2 ~ - "y
C 375 D
ID: 4.4.91-Setup & Solve ——

. s — S —

e —————————

27. Solve the equation. Write the answer in terms ofthe natural logarithm. C 5 /( /é / / c{)
ety = I = - LLL s/)

/ C /p ,& /'(

. e ——

The solution set is {l ]}» oA S
(Type an exact answer. Simplify your answer. Use a comma to separate answers as heed

Qs S X ., T/ _
Answer: !n 1.4 (:7 = /’ 5/_. _. 4 (,/d .ffj"_/

/ éjz fy // 4’)
ID: 4.4.109 :; _:}(’({, //ﬁ L_(’/, o) M‘? //

- 57 B - e
28. The formula . Sh/"? 4 - 0 C —C 534 < 76,, j,‘,‘,{i §ﬂ“ /]f“-/ -z /V'Z:Z;', \
‘ D=50¢ g | 3

can be used to find the number of milligrams D of a certain d that is in a patiént’
was administered. When the number of milligrams reach the drug is to be administered agaln What is the time
between injections?

The time between injections is | ] ! hour(s). ) ) ,,\ () !:
ce/s as needed. ) 0 /

(Type an integer or a decimal rounded to two decimal pla X
- — Cl }

Answer: 5.05 ,,_c./__ 5,_L

§O

S —01

,.—C)¢5 P L,
7554 @‘ﬂ T h >

ID: 4.4.125 Oi - 6/ ) {./f : _— 5;’2' e

/(M) S, dGZ e

~ ;/ Gif

/5’7( ”() ]
NSAUN Of—ji_,,/

320f36 11/13/2019, 10:06 AM
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29. Write the expression as a sum andfor dlffarence of Inganihma Express powers as factors "*-

——

[X("+7)] /(v-‘_ (X (X /} L5 ¢ Yo 7)) =
log x>0 | < 3
Los it + Luslirs) — Cos(lrdd
[x(x+7)} = — . =~ l//
log = (Simplify-your-answer,)

(x+4)° MJ*ZO}(A@‘J)_—B’[&}(X 5’)_\

Answer: log x+ log (x+7)-3log (x + 4)

/ V.7 )H—’ .\‘_’:_.
/ féfﬁ'ﬂv/g "‘(@/ ,f ?f- = )(f ) //kau’ /(/;»5,4 <
ID: 4551 Za 3 {/771’;}- — 60:764/,./— é}/,,) i }(// ’

(x+4)°

30. Solve the logarithmic equation.

log 5(x+9)=log 511

/' Determine the equation to be solved after removing the logarithm.

/ (Type an equation. Do not simplify.)

/ Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

(O B. There is no solution.

\\ Answers x+9=11

A. The solution set is { 2 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

IDf 4.6.9-Setup & Solve

" )
¥# 7 % /[

V- 7 7" (e

7
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Cos (X xrns) < L

olve the logarithmic equatioyy re e
v e
log x+ log(x+15)=2 /ﬂ = )(()(-’f/;s“\

Determine the equation to be solved after remowng the logarithm.

https://xlitemprod.pearsoncmg.com/api/v1/print/math

l ] | /J«-X’ ol Kt | &\V}Si‘/‘;/

(Type an equation. Do not smphfy.)& - /( At A — yavie

Select the correct choice below and, if necessary, fill in the a_n\swer box to Tmplete your choice. L/Ai/'ﬂ
0= G — s /et 2

i

O A. The solution set is { } y-go o o4 XA =& 7

(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) )'/ AT T TN fjrﬁ /("(“Zf/ -/ u =l v ///’16{6_
O B. There s no solution. - /{r’.-_- = Ja ST - /

. e i \\
. oS = éo At [’ / /

Answers x(x + 15) = 102 é{r_;)( ) .7!—(-{./-5 /5’7‘(5’.} = L f[

A Thesolutionsetis {5 }.los( zé;{;é (ﬂ*f | Co

(Simplify your answer. Type an exact answer, Use a comma to separate answers

as nedded: /
é() ( Lc))*"fﬁ/tfs( A-.)f[(s): L ‘_/_/’/

ID: 4.6.17-Setup & Solve C@"ﬁ (—2v) ’f’“y [.,.f = L
B L£4D cAD

32. Solve the following logarithmic equatlon Z% ﬂx*f;)_EZ@j/%’ﬂ l //O )( 94/-{’ / {
log (4x+3)=1+ log (x - 8) \ Z 7/@( T V/-(/ﬁ o

r”“Select the oorrect chok ce below and, if necessary, ﬁll\iﬁ the answer box to comp!ete your choice.
|

VPR i é i e ’ .,«l é)( z 3

e "’\ G- 7

//77

_/
O A. The solution set is L b )/ o\ X—=7

(Simplify your answer. Type an exact answer. Use a comma to separate answers-as.needed.
&H here is no solution. /

e ik [c-)[d/,_( Md@ /() ==

73
. — s ) fo_ “/‘f"~“/ 7/
Answer: A. The solution set is | 3 [ 7-'...._ —F L/u )(Qf }}_.,__ - , ¢ Loy ff‘w‘ 3 5’5‘,)

(Simplify your answer. Ty(ee an exact answ;g ?ea comma)to se;:u'ira;jang\,.\,v,ar%I dSP de d. o Py /
‘ 5
3) >MMU¥‘—> £ 9(—~8) vy~ 5 Yy T Siee~
CV I5D:4.6.19 Oy — FO = Fx-+3 il o

5 Loy — JIAFS ~ Y32 = -
7 A - — = j ———p——
33. Find the amount that results from the given investment. /-’}L / / /+ —L ?ﬁ' ) 7Pz Juo

$300 invest d at 8% oompounde@uarterly after a period of 2 years v(7) Y A, t

e : i /: — . é/ 1+
After 2 years, the investment results in $l "I. /7 O / / ¥ r,f e [’/
(Round to the nearest cent as needed.) ' P — s
Af -+ Ty ( [t gg ) y J
Answer: 351.50 __H ; Ve =
# 0o [ & or )/’ 2l

ID:4.7_.7___- f/;i 35’/ yqff/y Z,»/\)ﬂ/
/’/7_%33‘/ ro __)//c/h

340f36 - - —_— e VIB2009710:06AM.
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Vy 34. How long does it take for an lnvestment 0 doub\‘e ~valye ifitis |nvastadé‘52ﬁ,eo{npounded monlhly?/ Compnunded a\
' SO1E

\ ti sly? o — i
00 o 20/ (7 Y NG D = /00 42,
At 5% compounded monthly, the investmen doubles in about \? » . 2w - ,:/C__
(Round to two decimal places as needed.) ) ' = o S
/ ‘}\ —
V t 5% compounded continuously, the Inve;’t/ment d’publes in about i 2 -
@09 Round to two decimal places as needed ) -—éjﬂ/ 2) /g(,&,{’/-r ‘ //éh ( Pk
202 —/w ((+:2 . ' )
b Sl “/ (12t (12 A (1) A2

e 2 g (gl N O AURID L BTG
[ é&,(z) é ((T )\ &g g?ﬂe / ﬁv,/g/ ,6/5( Py

Mt7)e e L S
/\ ID: 4.7.35 (2) /Zé’g”(/* cz4. ' /34» 5’62. Y3/ <€ BLY £ il

= ) |

35. How many years will it lii!_c\e for an initial investment $50 000 to grow to $75 0007 )\ssume a r(ate of inte:reustgfg‘i/o/,1
el p il ,

Gompotnded continuous A Ve yg4 / §)- éc ) . 7

It will take about | | years for the mvestmen‘ to graw to.$75,000. =7 “ ﬁ,‘— . _‘é
—_— A o
(Round to two decimal places as needed.) ol € ) B ?ﬂ ¢ 2 ¢ / 27 32 {7 7

7 sooe = Svoe € Exe /Z (/‘ ) - e € (”& ,__,_,\-@ c\; -
Answer: 2.03 75—0\_;2 ; S#Ugv)i‘g/ };,? I(/ .') ~ el € ;f@ 0} - é /'__,' ,(
— g = [ ;‘4( | R
A

cuue oo LA i

ID: 4.7.41 /;}, - 6)’(’"‘% / .’%f_[;_S_) <

ax Zal —
36. The population of a c:any of mosquitoes obayatha law, i]r_linhibit_e(!'grggt;ﬁ.‘ Use this information to answer parts (a)

through (c). /{ é) /t #

/ @f N is the po-"' a the colony and tT"the*tirne in days, express N as a function of t. Consider Ny is the original
' ount att=0 and k # 0 is a constant that represents the growth rate.

N(t) = - |(Type an expression using t as the var%ﬁ_and ln'tem'ls ofe.)
n

@) e population of a colony of mosquitoes obeys the law of uni ﬂ__"growth If there @re 1000 mosquitoes initially and
ere arQ300 aﬂqr'iday what is the size of the colony after 4 daly‘ats"> ——

P

Approximately mosquntoes

(Do not round until the final answer. Then Il:'nuud..to\he nearest whole number as needed.)
I l{‘ //—v _\_"‘—‘—-_\___
@) ow long is it until there are 90,000t fnos

About | days. # /L’/({/ SN C

(Do not round until the final answer. Then round 1o the nearest tenth as neede.d )

/ /300 - /O LCk

Answers N ¢ kt /

2856 / /)OU '_/C/OUC L
17.2 /30> _ . ‘7()0(?
/VQU /O -
LoD & f<=>

/ /éﬁ [ [:3)E — /(6/

350f36 \ 11/13/2019, 10:06 AM

/)

ID: 4.8.5




@/‘,11 A (1.3)= [ bE)
R A YR
h(1.3) <
&2663 ¢S 26T :F>
@633‘57;9 Lot

ZGZM‘»’é
¢ O O
/] /6 (.2683 ¢ (%))

N(s) = /000 & o
WSG}QOQ&?FJQ
Qu4) = 2150 Dot

T e ~ﬁ'J )_’ﬁ

/ L,
oo E

G (O 0V z//,g,’———
QY /OJQ

/d ‘ZéZSC?’-é
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37. Solve the system of equatlons If the system has no solution, say that it is inconsistent.

A // 1 . o - ,Z

W 2x -5y=-18 | /\ B 2N—ST - /X /// -fg**"z;/ - 2.-’.’-__

/ y : 4 =/ / s $¢
ALY =L, 2 S

( 10x+y =14

LA ACO = DL / /{/f/ :/?I
' e

" Select the correct choice below and, if necessary, fill in any answer boxes within your choi

O A. The solution of the system is x = - ~andy= ] = - gy 5
(Type an integers or simplified fractions.) Z )( — > 7 '

(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as — = 5
{(x y)|x= , y any real number} ( i) - 7
(Simplify your answer. Type an expression using y as the variable as needed.) Z — ¢ y / 5 2

(O C. The system is inconsistent. ) v ',74' - // &(/ -

;{./7

i . 1 - S 5 i
Answer: A. The solution of the system is x = |andy= 4 | 4 | } e Z‘
(Type an |ntegers or simplified fractlons )

/ I ‘7) f(/ y) =T

38. Solve the given system of equatlons If the system ha 2 ,90 S0 yt ;n say that lt mconmstenj '7 P, X /
, I N L' =
X-3y+4z= ‘ o // /]/ / “”//’/
-3 ‘/ s HEC
2x+ y+ z= A
-2x+3y-3z=-12 }/ / _/5
2 =3 L.

Select the correct choice below and fill in any answer boxes within your choice.

O A. The solution is x = Y= ,and z= . (Type
integers or simplified fractions.)
(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= Y= . z any real number}.
(Simplify your answers. Type expressions using z as the variable as needed.)
(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.z2) | x= .y any real number, z any real number}. ‘ -
(Simplify your answer. Type an expression using y and z as the variables as needed.)

(O D. The system is inconsistent.

Answer: A,
The solution is x =/ 3 Y= -1 ,and z= 1 . (Type integers or simplif'ed
fractions.)
/ /
), /v rre )
ID: 6.1.45

_/

C (X 9,2)= (3 4 1) «

36 of 36 11/13/2019, 10:06 AM
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